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Al 8,400
307 gl2to| & 70,000 70,000 0
= 42,000
= 19,600
Al 8,400
10 Al2ISKIAIEEE23HI2X 70,000 70,000 0
OOGIgl0lE UHMwAF Q12|
70,000,000 70,000
= 42,000
= 19,600
Al 8,400
S A XA (S0™E S) (LA 458,653 648,000 189,347
= 275,192
= 128,423
Al 55,038
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HE: 00D #=E SXMLIA HB(2F)(AA)
& DIA X

ool oglol [ 2 (A1 (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 458,653 648,000 A189,347
= 275,192
== 128,423
Al 55,038
10 Al2ISTIAIEEE 22X 458,653 648,000 189,347
O=EsnAg el X (Zotdg 8)
458,653,000 458,653
= 275,192
== 128,423
Al 55,038
HE - QIFOIEI01E Zel@ IAHl X2 (ZH1) (AL 409,647 475,200 65,553
= 83,727
Al 325,920
307 elztol & 409,647 475,200 65,553
= 83,727
Al 325,920
10 Al SXAEEHE 22X 409,647 475,200 65,553
OJHy - gII0=l0ld Xeld Idl XI(&=
BI) 409,647,000& 409,647
== 83,727
Al 325,920
HElold Exelsd X (AAH 345,600 426,120 80,520
307 glztol & 345,600 426,120 280,520
10 Al SXAEEHE2EHI 22X 345,600 426,120 /80,520
OO0FRIAZNI0IE EXWAL 12|
1,100,000 x32* 12 39,600
OJtd - 2I2H0el01E &l el2d] K&
300,000& #8504 A=+ 123 306,000
SN MM KNS (RAI2SEZHLH) (AL 1,258,260 1,445,000 186,740
= 754,9%
= 362,313
Al 150,991
301 LEetE2 N = 1,258,260 1,445,000 186,740
= 754,956
= 362,313
Al 150,991
01 Al EE A S (2 DEXR) 1,258,260 1,445,000 186,740
O0gl0l& WAIZRatEid]
1,258,260,000& 1,258,260
= 754,956
= 362,313
Al 150,991
SN MM XE(WAIBE FE) (LA 46,977 48,000 21,023
= 28,649




SA AT ARSI
2 Ol0IDt =E SXMHIA HIS(EF) (LA
CHel: 0f2l0IE WA X (AAD (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,369
Al 4,959
301 EtE NS 46,977 48,000 A1,023
= 28,649
== 13,369
Al 4,959
01 AR 2EHSHS(RNEXRTH) 46,977 48,000 A1,023
O0el0lE wAEA 28 X
46,977,000 46,977
= 28,649
== 13,369
Al 4,959
Oelold wa MIHLHl X3 (A 1,076,946 1,200,000 A123,004
= 236,946
Al 840,000
301 EtE N = 1,076,946 1,200,000 A123,004
= 236,946
Al 840,000
02 MR 2HASFS(HAAS, XLHE) 1,076,946 1,200,000 A123,004
O0glold WA X<IHAH|
1,076,946,000& 1,076,946
s 236,946
Al 840,000
BKWAF MRSl FIF X2 (LA 252,450 260,000 AT7,550
= 126,225
Al 126,225
301 LEtE NS 252,450 260,000 AT7,550
= 126,225
Al 126,225
02 A2 XSG (FHAAHS, NSWE) 252,450 260,000 AT,550
OEFWA MRIM&Hl =0t X
252,450,000& 252,450
=S 126,225
Al 126,225
ZOHot b THE23HE DA S22 (DAL 256,471 280,000 N23,529
S 60,471
Al 196,000
301 EtE NS 256,471 280,000 N23,529
= 60,471
Al 196,000
02 ARSI 2 XSG (FHAAHS, NLWE) 256,471 280,000 N23,529
OZOfOtEr - HOotet - CH23tEE WA E2 2
=g 256,471,000 256,471
=S 60,471
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| Al 196,000
OfRI0lE ERWAS SEXIR (LA 403,200 44,000 40,800
301 LEHER3 403,200 44,000 40,800
2 NS S ERAFHD(HAHNES, NLM) 403,200 4,000 40,800
O0lRI0IY ER]NAY B2+
00021 *4602 * 128 276,000
OO0lRI0IE 2EnAA BI|2&4g
(60,0002 ¥130 ¥122 )+(40, 0002 *70% » 122
) 127,200
S3E O{RI0IT QUAHI(Z2IR)(HEA) (LA 116,100 111,307 4,793
(S 3,830
Al 81,270
307 Q120 116,100 111,307 4,7%
= 3,830
Al 81,270
IR EETTEES 116,100 11,307 4,7%
OZZE0IRI01E ol (X2l2)
116,100,000 116,100
=3 34,830
Al 81,270
OlRI01E W 24WK(LAH 8,500 8,500 0
= 5,100
= 2,380
Al 1,020
301 LEHER 3 8,500 8,500 0
2 5,100
= 2,380
Al 1,020
14 JIEH2 A S 8,500 8,500 0
O0lRI0lY ERNAY 24US
8,500,002 8,500
2 5,100
= 2,380
Al 1,020
ESNHY QA XA (XA S) (LA 2,240,000 2,520,000 /280,000
2 1,344,000
= 627,200
Al 268,800
307 220 2,240,000 2,520,000 280,000
2 1,344,000
(S 627,200
Al 268,800
INCE N EETIEES 2,240,000 2,520,000 280,000

_31_




SM: AAT AEIZ XD
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SA - ZE - B2(30) - HRAS of v e HIDE2
OBZXWA & SIRFG WAL Q12|
2,240,000,0002! 2,240,000
= 1,344,000
= 627,200
Al 268,800
OLOID} B=8h SXIMHIA RIZ(HAE)(AA) 3,633,559 3,633,559
7 1,163,026
= 993,945
Al 1,476,588
OFS=XIAIE KIZ(AAD 3,633,559 3,633,559
= 1,163,026
= 993,945
Al 1,476,588
NENENTERETINETEYY) 1,997,604 1,997,604
2 908,802
= 499,401
Al 499,401
307 QI2H0| & 1,997,604 1,997,604
2 998,802
= 499,401
Al 499,401
e N EE = CIEES 1,997,604 1,997,604
OXIS0otsHIE ol XI&(=2Hl)
1,997,604,000! 1,997,604
= 998,802
= 499,401
Al 499,401
XIHOISHE QIAH] Z=IIXIR (AA 723,655 723,655
= 205,486
Al 518,169
307 QI2H0| & 723,655 723,655
= 205,486
Al 518,169
NN EES 723,655 723,655
OXISiOtSHIE Q121H] SIHX S
684,955,000 684,955
= 205,486
Al 479,469
OXISotSHIE QIAHI =LA (AIHIZI
38,700,000 38,700
XAOISME 298 N (D122, £I29bl) (A 308,448 328,448
AH)
= 164,224
= 82,112
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Al 82,112
307 gl2tol & 328,448 328,448
[ 164,224
= 82,112
Al 82,112
10 Al SXAAEEHE2EHI2x 328,448 328,448
OXlotsHE Jl=22gHl(=h)
303,648,000 303,648
[ 151,824
= 75,912
Al 75,912
OENERTEESELTIEED
24,800,000 24,800
[ 12,400
= 6,200
Al 6.200
XHOotSHIE 228 RIS (A 36,600 36,600
307 @I2t01 & 36,600 36,600
10 MEISXAIEHE2EHIEX 36,600 36,600
OXlgotsHE =IH2g8I(AlE])
36,600,000& 36,600
NSOotsSHE SSwAE X2 (A 293,352 293,352
= 146,676
Al 146,676
307 elztol & 293,352 293,352
= 146,676
Al 146,676
10 Al SXAAEEHE 22X 293,352 293,352
ONAOISHE SBIA X2
293,352,000 293,352
s 146,676
Al 146,676
NSotsHE SAE<L0] QIAHI X (AL 102,600 102,600
307 elztol & 102,600 102,600
10 MEISXAIEHE2IEHIEX 102,600 102,600
OXg0tsHE SAE<0l 228l A&
102,600,000 102,600
XH0otSHE HME&SHl X (LA 26,500 26,500
= 7,950
Al 18,550
307 @120l & 26,500 26,500
== 7,950
Al 18,550
1 AR SXAIEE X 26,500 26,500
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SR OFSSXIAIE XIR (LA (S &)
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OXI=OtSHE HMEESH U
26,500,000& 26,500
= 7,950
Al 18,550
KSAOtSHIE SAKL SS2RSZ (LA} 90,600 0 90,600
== 18,120
Al 72,480
301 22N 90,600 0 90,600
[ 18,120
Al 72,480
02 AR 2EH LGS (FHAAS, XNLWE) 90,600 0 90,600
ONAOISHE BAX S22+ T2
90,600,000& 90,600
= 18,120
Al 72,480
OlSSXIAIE SAR HRIMAHI(AAL 34,200 0 34,200
s 34,200
301 EtE NS 34,200 0 34,200
= 34,200
02 ARSI E2E A S(FANS, XLETHE) 34,200 0 34,200
OXISOtSHIE! SALA MRIHAH]
34,200,000 34,200
= 34,200
RO ZMSE T (A} 34,541,215 32,016,938 2,524,277
= 30,854,180
S 2,462,235
Al 1,224,800
NASE JIZMEEH (LA 34,541,215 32,016,938 2,524,277
= 30,854,180
=S 2,462,235
Al 1,224,800
S 2 X (A 1,063,600 1,833,600 AT770,000
= 850,880
= 106,360
Al 106,360
301 EtE N = 1,063,600 1,833,600 A770,000
= 850,880
= 106,360
Al 106,360
01 Al EE A S (2 DEXMR) 1,063,600 1,833,600 AT770,000
O2g=Al 1,063,600,000& 1,063,600
= 850,880
< 106,360
Al 106,360
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H
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110,250

126,000

14,615

, NEHE)

140,615,000&

in
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110,250

126,000

14,615

Mo

=

33,135,000
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2,319,450
994,050

3,469,160

Mho

=
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2,319,450
994,050

3,469, 160

33, 135,000,000&
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=
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29,821,500
2,319,450
994,050

3,469,160
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=

202,000
181,800
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14,140

161,563
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o

=
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202,000,000&
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181,800
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14,140

161,563
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H

Al
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360,960
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2,300,103
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/1,078,005
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Al 142,568
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Al 142,568
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=S 1,269
Al 1,269
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= 1,269
Al 1,269
01 Al EE A S (2 RDEEA) 12,690 16,800 24,110
OFAH 828 OtsUsH S XA
12,690,000& 12,690
Il 10,182
= 1,269
Al 1,269
HAERR OtS2FH XA (LAY 27,000 24,000 3,000
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Al 11,475
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OHAEHER ots2=H| X
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Al 11,475
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JI2BHI (A ARSI 1) 61,152 72,576 A1,424
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—=4| 50,0002 36 12&+0.8 17,280
202 04| 25,920 39,168 13,248
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Oge=aI|1=20H|
120,000 «362 *12&2+0.5 25,920
203 HR=AH] 4,128 4,032 %
M RFAZHLRFEI 4,128 4,032 %
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14 JIEt2 8= 400 1,000 2600
OEXNAER (&5 +H) 400,000 400
401 AIE2HIXL S THYI 197,424 301,159 A108,735
01 A&l 195,600 298,600 103,000
OJ24 BIOME ZBTM
67,600,000& 67,600
OItZ24 SHBIESA 93,000,000 93,000
OMoliA=E+5 HHISA
35,000,000& 35,000
03 Al 2CHYI 1,824 2,559 AT735
OJt2= HIOIE SESA
67,600,0002 %0. 9% 609
OJtZ24 2tBIHE S A
93,000,000 0. %% 837
OXfoli<i& HISA
35,000,000 *1.08% 378
405 AtatE = 1,650 3,300 21,650
01 ML ESFSHI 1,650 3,300 1,650
Otz & =X&clg g+ 1,650
—0=2| 500,000 *1CH 500
—&FED| 500,000 1CH 500
aPNE= 650,000 *1CH 650
AR (A} 7,288 7,288
201 Ler=23 | 7,288 7,288
2 s5=34l 7,288 7,288
Odsrg2tel FHl |Xl2tel] 4,288
—3Eg= 1,645% »2c| B4 401 »2002 2,632
—2g 10,0003 4 LH+33] 120
—&Hl==clbl 40,0002 *4CH*122]+0.8 1,536
Ode W AlE€E FAl2cld]
3,000,000 3,000
HM=IHI[ (AL 17,360 17,357 3
= 8,680
= 2,604
Al 6.076
401 AlZHIZ S 0HbI 17,360 17,357 3
= 8,680
& 2,604

&




SAT AR EAIDN2H
M ASBARO =NBE TH(AA)
S©elr SAlZ2 ZH(AAD (S & 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 6,076
01 AlZ2H| 17,360 17,357 3
OZFME IR 17,360,000 17,360
= 8,680
= 2,604
Al 6.076
SO H 22l (AL 32,400 32,400
201 fet= 3| 30,450 30,450
02 S3=4gHl 30,450 30,450
Ot Al FAXl2eld
450,000 7K 2= 3,180
OFESXIE0D| A2l
300,000 * 1694 A 4,800
O2+U A =X2ci|
2,000, 00021 #20H 4 4,000
ORILBAl SEA 2B
350,000 *4JH 2% 103 14,000
oS40 445 23
1,0003 x15E+2)H A +252 +6& 4,500
206 M=l 1,950 1,950
01 MZH| 1,950 1,950
ORBXE0I 225 Tt F
100,000 * 169K 2 1,600
O=2=U Ald A2ZF T ¢
175,000 204 2 350
N —=INIERLIEINY 1,182 1,280 A128
201 er23 | 1,182 1,280 A128
01 At2teltl 1,152 1,280 A28
Ot HId2RA S4|
9,0002 x22+802+0.8 1,152
ASTSHATE & 2S(FE)(4AH 2,460 2,460 0
= 984
== 443
Al 1,033
201 er2 3| 2,100 2,100 0
= 840
& 378
Al 882
01 At2tltl 2,100 2,100 0
Odt=dzl SAMHI 9,000& %100 900
= 360
< 162
Al 378
Otz | 400,000 *3CH 1,200
= 480




SAT AR EAIDN2H
M ASBARO =NBE TH(AA)
el SAIEZ ZH(AA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 216
Al 504
202 04l 360 360 0
= 144
< 65
Al 151
01 2LHoIH 360 360 0
OttEdlal £2504| 20,0002 182 360
= 144
== 65
Al 151
AESSXUR (B ) (LA 1,500 1,500 0
= 450
Al 1,050
201 Ler=23| 1,500 1,500 0
= 450
Al 1,050
01 AtR2t2|HI 1,500 1,500 0
Otr= st 50,0002 30CH 1,500
=S 450
Al 1,050
)&E’D—'XHGH%Jual(EDI)(&%&%mwo*&irw)(%g)(iM 140,835 158,656 A 17,821
= 56,334
== 25,350
Al 59, 151
101 e124d| 137,235 155,056 A17,821
= 54,894
= 24,702
Al 57,639
04 JIZtN2 2N S 2+ 137,235 185,056 17,821
OLSEZULEISIH 22X Q14|
126,563,000 126,563
= 50,625
= 22,781
Al 53,157
OUSHEZULESIN 22T 282
10,672,000& 10,672
= 4,269
= 1,921
Al 4,482
201 223 3,600 3,600 0
= 1,440
= 648

_57_




SAT AR EAIDN2H
M ASBARO =NBE TH(AA)
el SAIEZ ZH(AA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,512
01 Al 22| 3,600 3,600 0
OMZYTZAY 222
400,000 ~9H 3,600
= 1,440
= 648
Al 1,512
LBHAGHS LI (AAL) 10,048 25,419 15,371
= 5,339
= 1,412
Al 3,297
101 @12A4H| 10,048 25,419 A15,371
= 5,339
= 1,412
Al 3,297
M IRINZZENSES 10,048 25,419 15,371
OUSEHESLM JI2HH22 A 2124H|
10,048,000 10,048
= 5,339
S 1,412
Al 3,297
A THOH L Kbl (Ol 22 RIE) (AL 37,873 36,485 1,388
= 19,021
S 5,402
Al 13,450
101 @124H| 37,873 36,485 1,388
= 19,021
< 5,402
Al 13,450
M ORNZZ2NSE S 37,873 36,485 1,388
OatEEHNSUZ M JI2EHMZ22 A 2124H]
37,873,000 37,873
= 19,021
== 5,402
Al 13,450
A THOHZ K2l (Gl =2 RIS 2K ) (2 Ab) 1,022 1,133 AN
= 511
== 153
Al 358
201 =3 1,022 1,133 AN
= 511
= 153
Al 358
01 AtR2te|H] 1,022 1,133 AN




S AT SAIDIZD
M HBFHO SXEY T (LA
el SAIEZ ZH(AA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOMZE LM XTH 1,022,000& 1,022
2 511
= 153
Al 358
SBAZIIIRII(LAH 30,170 23,322 6,848
2 15,085
= 4,525
Al 10,560
101 12| 24,800 21,711 3,089
2 12,400
= 3,720
Al 8,680
oM IRIH2ES B4 24,800 21,711 3,089
ZIRIIHES 21244
24,800,000 24,800
2 12,400
< 3,720
Al 8,680
201 LBre | 5,370 1,611 3,759
2 2,685
< 805
Al 1,880
01 At22t2H| 5,370 1,611 3,759
ZIRIIHES S0H|
5,370,000 5,370
2 2,685
< 805
Al 1,880
DBARIDIRI|(LK) (LA 500 250 250
2 500
201 LBt 500 250 250
2 500
01 At22t2H| 500 250 250
O£ PIIHES nSH| 500,000 500
2 500
AT SA2 HHI(BURS 20104 30,000 30,000
401 AlEHIL 2 0HY| 30,000 30,000
01 Al&H] 30,000 30,000
O =4 SA2 Jul(SU2s Z20{0AH)
30,000,000 30,000
HAE TAISZEERH(LAL 164,253 495,547 NA331,294
H2s 218 TH(AAD 133,009 1,500 131,509
pI=EF-ESEYN) 8,637 1,500 7,137
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FAT AR EAIDN2
B HES CAIBAZM(AA
CHelr HZEH Helstd TH(AA (SH9: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 7,597 1,500 6,097
01 At2teltl 3,940 1,500 2,440
Ost&0lstd Tl 2l
250,0003 *10H A 250
Orz2d~E =578
80,00021+9% 720
OIS TS oY Z5H
50,000 *1& 50
Osdil=ta U=l 2,310
— &2 10,0002 +6& 60
—<2 10,0003 +6& 60
— &3t 20,0003 +62 120
—&at 50,000 +6E 300
—&st2 10,0003 +64 60
—&stst 70,0002 ~6 420
—getEy 20,0003 +62 120
— )| 15,0003 +6& 0
—&gs 100,000 6% 600
—&sts 80,0002 64 480
Oetdiletd JUENI S22 & Fo3
=) 610
—S=H 110,000+ 1 110
-S43 500,000 *1H 500
02 S3=gl 3,657 0 3,657
OgtZ0Istd oA 2323 1,800
el K= 100,000& x 104 2% 123 1,200
—&fote=E 50,000& * 104 2+ 122 600
Osdil=ta ¢y =& F7H|
1, 7453 +60C| B+ 101+ 123 1,257
OstZ0lstd A =X & HHz=
] 200,000 * 10 A3 600
202 04| 1,040 1,040
01 =LHOLI 1,040 1,040
O=ta0lzt S uWs 0yl
20,0002 * 13 *42] 1,040
HATrarzel(AAH 124,372 124,372
201 er2&| 124,172 124,172
01 At2teltl 27,872 27,872
O3AXtEg =2378H| 27,000
—SLEdA 250,000 * 171 =4 CH =33 3,000
—=HEZA 150,000 5K *4CH 82l 24,000
OF A HALE Xz
12,1003 601~ 123 872
2 s5=34l 96,300 0 96,300
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N14,425
N14,425
/10,349

A38,973

H
ol &y

183,572
183,372
36,672

494,047

116,700

200
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15,475
15,475

11,399

1,208,893

Ofl &F2H

14,700
81,600
200
200

200
31,244

30,194

24,114

14,924
1,920
2,500
1,000
9,504
9,190

540
8,650
4,800
3,850
5,280
5,280
1,320
3,960

800

800

800
1,050
1,050
1,050
1,050

1,169,920
1,130,392

- SRA(E) - HIRAY

- HyS

S LRE-L

2,100,000 +7CH

b S =Xl
17,000,000 «6CH+0.8

o
0
H
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14 J|Et

100,000 *2CH

o

iioJ

1,920,000

= M=
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Z @el ol
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FAl2ell

01 =LA LI

202 044l
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b

14 J|1Et

10,0002 «80AH

1502700001000 =
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62,475
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SA: A ZAID2ED
At

ZE: BHSSAY|(LAMT SADIZD
SRl D12 (AAFR SAIDI2D (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
—37I 2,530& x20024* 12& 6,072
— Bt 430240024+ 122 2,064
202 O4H| 12,960 0 12,960
01 =LHOdH] 12,960 0 12,960
OgRF&I|2M|
120,000& 18 *12&+0.5 12,960
203 AR F=&lH| 2,880 0 2,880
M FA2IHRFALI 2,880 0 2,880
ORN2IYRFA|
300,000& *x12&*0.8 2,880
2SS (AAIT SAIDIRD) 1,000 1,000 0
BEXE(AATR SAIDIZ2D) 1,000 1,000 0
BHEt 2 (A AP SAIDI21H) 1,000 1,000 0
802 Btat=aJ|EF 1,000 1,000 0
03 J|EtEHE 2 S 1,000 1,000 0
OUEHIIZ - (28t)d D =45 &
= 1,000,000& 1,000




